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(Atten setto 8 dB)

At X-band:

Overall SN of ADC output is ~36:1
incl est. ADC noise. "Sig" means the
baseline noise available at the pedestal

This is about 2.8% loss of SIN in path
from pedestal input to ADC output
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Tn=3.793e8 K

at ADC output

(calc fwd from ref)
Tsig(min) = 1.394e10 K

ADC  1.024 GSA/s
8hit 1Vpp FSrange
RMS Noise: 2 steps

ADC inp ref Tn = 174e6

Dan Werthimer suggests up to ~30 steps RMS in a clean
(RFI-free) environment, but don' hesitate to drop to as low
as 10 steps RMS when RF is present. Clipping due to CW.

) tones is very bad for astronomical signal processing.
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the feed cone and hub areas by using more gain stages
and thus shorter, less lossy, line sections
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of the ref planes.

G=520B = 1585€3 (SB)

Tn=400K (SB)
(Atten set to 8 dB)
158.5e3
400

Tn=174e6 K
(ADC dev inp)

Tsig(min) = 14.74e9 K

T = 3.144e8 K (calc fwd from ref)

Psig = 56.3 uw (200 MHz)
Vsig =53.1 mvrms
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(calc fwd from ref)
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At S-band:

Overall SN of ADC output is ~30:1
incl est. ADC noise. "Sig" means the
baseline noise available at the pedestal.

This is about 3.3% loss of SIN in path
from pedestal input to ADC output

Smaller ADC drive and poorer SN were
a concession to greater anticipated RFI
problems at S-band, but stil fall within the
range of Dan Werthimer's advice.



